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(I)� ���� � � -� � �
�23���

(I)� Please� check� that� this� question�
paper�contains�23�printed�pages.�

(II)� ������-��40��
��

(II)� Please� check� that� this� question�
paper�contains�40�questions.�

(III)�-� � � � � � � ������������
-� � � � -� �
-����

(III)�Q.P.�Code�given� on� the� right�hand�
side�of�the�question�paper�should�be�
written� on� the� title� page� of� the�
answer-book�by�the�candidate.�

(IV)�

�

(IV)�Please� write� down� the� serial�
number� of� the� question� in� the�
answer-book�before�attempting�it.�

(V)� � -�� � � �15� ��
�����-����
�10.15� � �� �10.15� ��
10.30�����-��
�������-�
������

(V)� 15�minute� time� has� been� allotted�
to� read� this� question� paper.� The�
question�paper�will� be�distributed�
at� 10.15� a.m.� From� 10.15� a.m.� to�
10.30� a.m.,� the� candidates� will�
read� the� question� paper� only� and�
will� not� write� any� answer� on� the�
answer-book�during�this�period.�
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� -� � � -� �
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on�the�title�page�of�the�answer-book.��
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� �

� 1.� -��4���–�,�,�����

� � 1.1� � ��–�20���20�����

� � �1.2� � ��–��2���8��������

� � �1.3� � ��–��3���8����

� � �1.4� � ��–��5���4������

� 2.� -������,�������
�

�–� �

1.� ������_________��������� 1�

� (A)� ���,�1955�
� (B)� ....�(��)�
� (C)� �����338�
� (D)� ��,�1993�
�

2.� ���������4���()����
� � � � � � � � � � � � � � � � � �
_________����� � � 1�

� (A)� ...�(��)�
� (B)� ...�(��)�
� (C)� ....�(���)�
� (D)� ...�(��)�
�

3.� �������������(ascending�order)���
����:� � �� 1�

� (i)� ����
� (ii)� ����
� (iii)� ���������
� (iv)� ����
� (A)� (iii),�(iv),�(i),�(ii)� (B)� (iii),�(i),�(iv),�(ii)�

� (C)� (iv),�(iii),�(i),�(ii)� (D)� (iii),�(ii),�(i),�(iv)�
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General�Instructions�:�

� 1.� The�Question�Paper�contains�4�sections�–�A,�B,�C�and�D.�

� � 1.1�Section-A�contains�20�Multiple�Choice�Questions�for�20�marks.��

� � 1.2�Section-B�contains�8�Short�Answer�Type�Questions�for�2�marks�each.�

� � �1.3�Section-C�contains�8�questions�for�3�marks�each.�

� � �1.4�Section-D�contains�4�Long�Answer�Type�Questions�for�5�marks�each.�

� �

� 2.� Internal�choice�is�given�in�the�paper.�There�is�no�overall�choice.�

�

SECTION�–�A�

1.� The� National� and� State� Human� Rights� Commissions� are� governed� by�

_________.�� � � � 1�

� (A)� Protection�of�Civil�Rights�Act,�1955�

� (B)� Universal�Declaration�of�Human�Rights�(UDHR)�

� (C)� Article�338�of�the�Constitution�of�India�

� (D)� Protection�of�Human�Rights�Act,�1993�

�

2.� Jerry,� a� US� national,� has� a� 4� year� undergraduate� degree� in� Political�

Science� and� is� considering� applying� to� law� schools� in� U.S.A.� The� pre-

requisite�for�this�is�_________.� � � 1�

� (A)� CLE�� � (B)� MPT�

� (C)� LSAT� � (D)� MEE�

�

3.� For�the�process�of�removal�of�judges�in�India�–�

� Identify�the�correct�sequence�in�the�ascending�order��:�� 1�

� (i)� Constitution�of�an�inquiry�committee�

� (ii)� Order�by�the�President�

� (iii)� Notice�for�motion�for�removal�of�a�judge�

� (iv)� Submission�of�the�inquiry�report�

� (A)� (iii),�(iv),�(i),�(ii)� (B)� (iii),�(i),�(iv),�(ii)�

� (C)� (iv),�(iii),�(i),�(ii)� (D)� (iii),�(ii),�(i),�(iv)�
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4.� �(A)� :� ...������������ 1�

� �(R)� :� ...���()�� ��(�)�����

���������

� (A)� (A)��(R)�����(A)��(R)�����

� (B)� (A)��(R)�����(A)��(R)������

� (C)� (A)��,��(R)����

� (D)� (A)��,��(R)����

�

5.� �–���“����”���-���“”���

�:� � � � � 1�

������ � �

a.� � i.� ���()���

b.� � ii.� � � � � � � � �

����

c.� � iii.� �� � �� �� � �

����

d.� ��� iv.� � � (� )�2001��

�������

� � a� b� c� d�

�� (A)� i� ii� iv� iii�

� (B)� ii� iii� i� iv�

� (C)� iii� iv� ii� i�

� (D)� iv� i� iii� ii�

�

6.� ���,�2013���_________���� 1�

� (A)� ����������

� (B)� ����������

� (C)� ����������

� (D)� ������������



�

40/21����������������������� 5� � P.T.O.�

4.� Assertion�(A)�:� PILs� are� based� on� the� tenets� of� citizen� standing� and�

representative�standing.� 1�

� Reason�(R)� :� PILs� have� strengthened� the� role� of� judiciary� as� a�

monitor�and�watch�dog�agency.�

� (A)� Both�(A)�and�(R)�are�true�and�(R)�is�the�correct�explanation�of�(A).�

� (B)� Both�(A)�and�(R)�are�true�and�(R)�is�not�the�correct�explanation�of�(A).�

� (C)� (A)�is�true,�but�(R)�is�false.�

� (D)� (A)�is�false,�but�(R)�is�true.�

�

5.� Match�the� ‘Country’�in�Column�–�A�with� ‘Provision�of�Advertising�by�the�

lawyers’�in�Column�–�B�:� 1�

������Column�–�A� Column�–�B�

a.� India� i.� Model�Rules�of�Professional�conduct�

b.� Malaysia� ii.� Lawyers�are�permitted�to�advertise�in�

print�media�

c.� Hong�Kong� iii.� Lawyers� are� allowed� to� put� only� a�

five�piece�information�on�internet.�

d.� U.S.A.� iv.� Legal�Profession�(Publicity�Rules)�2001�

regulates�advertising�by�lawyers�

� � a� b� c� d�

�� (A)� i� ii� iv� iii�

� (B)� ii� iii� i� iv�

� (C)� iii� iv� ii� i�

� (D)� iv� i� iii� ii�

�

6.� The�aim�of�the�Lokpal�and�Lokayukta�Act,�2013�is�_________.� 1�

� (A)� to�prevent�instances�of�corruption�through�stringent�measures.�

� (B)� to�eradicate�corruption�for�betterment�of�society.�

� (C)� to�foster�a�culture�of�accountability�within�the�public�sector.�

� (D)� to�combat�acts�of�bribery�and�corruption�of�public�servants.�



�
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7.� � � � � � “� � � � � � ()”� ,� �

�����?� 1�

� (A)� �� �� �� �� �� � �������

����

� (B)� �����������������

���������

� (C)� ����������,�����,��

��������������

� (D)� ������������������

�

8.� � � ,� � � � � � � � � � � � � �

��������������������

������������������

����� �� ������ ��� ���

�������?� 1�

� (A)� �(�)� (B)� �(�)�

� (C)� � � (D)� ��(���)�

�

9.� ,������,� ���� ��������

�� �� ����� �� � � � � ��� �

�������������������

� ��������������������

�����?� � � 1�

� (A)� �����������������

��

� (B)� ���������������

���

� (C)� ����������

� (D)� ��������������� ��

�������
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7.� Which�of�the�following�scenarios�best�exemplifies�the�concept� ‘deterrence�

is�an�objective�of�criminal�law’�?� 1�

� (A)� After�consuming�alcohol�at�a�party,�Suresh�chooses�to�hire�a�taxi�and�

arrive�home�safely.�

� (B)� Manya,�a�habitual�shoplifter,�receives�a�warning�from�a�store�owner�

to�stop�her�from�stealing�again.�

� (C)� Alex�caught�driving�under�the�influence�of�alcohol,�faces�a�hefty�fine,�

license�suspension�and�mandatory�education�programme.��

� (D)� Sana�refrains�from�cheating�in�an�exam-being�aware�of�the�punitive�

consequences.�

�

8.� Emma,� a� talented� photographer,� discovers� that�her� original� photograph�

has�been�reproduced�without�her�permission�and� is�being�sold� at�an�art�

gallery.� The� gallery� has� been� profitting� from� the� unauthorized� use� of�

Emma’s�work,�causing�her�financial�loss�and�diminishing�the�value�of�her�

artistic� creation.� Which� of� the� following� intellectual� property� right� of�

Emma�is�being�violated�by�the�art�gallery�?� 1�

� (A)� Patent� � (B)� Trademark�

� (C)� Copyright�� (D)� Trade�Secret�

�

9.� Adheer� is� indebted� to� Bhanu� and� Bhanu� is� indebted� to� Chitranjan.� By�

mutual�agreement�among�the�three,�Bhanu� is�absolved�of� the�liability�to�

pay� Chitranjan� and� Chitranjan� accepts� Adheer� as� his� debtor.� This�

understanding�is�converted�into�a�contract.�Which�of�the�following�options�

correctly� describes� the� effect� of� this� new� arrangement� on� the� already�

existing�contract�between�the�parties�?� 1�

� (A)� The�existing�contract�is�discharged�by�rescission�as�all�terms�of�the�

contract�are�cancelled.�

� (B)� The�existing�contract�is�discharged�by�novation�as�the�new�contract�

will�substitute�the�old�one.�

� (C)� The�existing�contract�is�automatically�discharged�by�performance.�

� (D)� The�existing�contract�is�discharged�by�operation�of�law�as�the�parties�

have�merged�terms�of�contract.�
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10.� �(A)� :� � � � � � � � � � � � � �
�()������ 1�

� �(R)� � :� �� ��� �� ���� ��
���������

� (A)� (A)��(R)�����(A)����(R)���

� (B)� (A)��(R)�����(A)����(R)����

� (C)� (A)��,��(R)����

� (D)� (A)��,��(R)����

�

11.� �����������������?� 1�

� 1.� ���������

� 2.� �()����������

� 3.� �����()�����������
����

� 4.� ���()������

� 5.� �()������

� (A)� 1,�3,�4� � (B)� 2,�3,�5�

� (C)� 2,�4,�5� � (D)� 1,�3,�5�

�

12.� �,����������?� 1�

� (A)� ���������-�����

� (B)� �������

� (C)� ����������������

� (D)� ��������

�

13.� ��������‘’�����������?� 1�

� (A)� ����������

� (B)� ��������

� (C)� �����()��������

� (D)� ���������(��)���()���
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10.� Assertion�(A)�:� Tribunals�have�contributed�in�supplementing�the�role�of�

courts�in�adjudicating�service�disputes.� 1�

� Reason�(R)� :� Appeals�against�the�orders�of�the�Division�Bench�of�any�

High� Court� lie� before� the� Central� Administrative�

Tribunal.�

� (A)� Both�(A)�and�(R)�are�true�and�(R)�is�the�correct�explanation�of�(A).�

� (B)� Both�(A)�and�(R)�are�true�but�(R)�is�not�the�correct�explanation�of�(A).�

� (C)� (A)�is�true,�but�(R)�is�false.�

� (D)� (A)�is�false,�but�(R)�is�true.�

�

11.� Which�of�the�following�statements�correctly�describe�features�of�Tort�law�?� 1�

� 1.� Tort�is�a�civil�law�subject.�

� 2.� Damages�under�tort�law�are�always�unliquidated.�

� 3.� Tort� is� an� instrument� for� making� people� adhere� to� standards� of�

reasonable�behaviour.�

� 4.� Tort�is�an�intentional�criminal�activity.�

� 5.� Tort�is�a�civil�wrong.�

� (A)� 1,�3,�4� � (B)� 2,�3,�5�

� (C)� 2,�4,�5� � (D)� 1,�3,�5�

�

12.� Why�is�sole�proprietorship�the�easiest�type�of�business�to�establish�?� 1�

� (A)� Because�there�is�no�separate�entity�of�the�owner�and�business�in�eyes�

of�law.�

� (B)� Because�there�is�lack�of�government�regulations.��

� (C)� Because�the�sole�proprietor�enjoys�all�profits�and�bears�all�losses.�

� (D)� Because�the�liability�of�the�sole�proprietor�is�unlimited.�

�

13.� Which� of� the� following� statements� is� true� for� ‘Consideration’� as� an�

important�element�in�contract�?� � � 1�

� (A)� A�contract�without�consideration�is�voidable.�

� (B)� Consideration�must�be�adequate�and�real.�

� (C)� Consideration�can�be�in�the�nature�of�an�act�or�forbearance.�

� (D)� Consensus�ad�idem�is�the�pre-requisite�for�consideration.��
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14.� �(A)� :� ����18��������
���������� 1�

� (R)� � :� ,�����14�����������
���

� (A)� (A)��(R)�����(A)��(R)�����

� (B)� (A)��(R)�����(A)��(R)������

� (C)� (A)��,��(R)����

� (D)� (A)��,��(R)����

�

15.� ������������������

����?�� �� 1�

� (A)� ��“”���������

� (B)� ��,�,�,�������������

� (C)� ����������-���

���

� (D)� �������������

�

16.� �������������������

�������������()�������

�����������������?�� 1�

� (A)� � � (B)� �

� (C)� ��� (D)� � �� �

�

17.� (A)� :� �������������
������ 1�

� (R)� � :� ��������������

� (A)� (A)��(R)�����(R),�(A)������

� (B)� (A)��(R)�����(A)����(R)����

� (C)� (A)��,��(R)����

� (D)� (A)��,��(R)����
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14.� Assertion�(A)�:� Article� 18� of� Indian� Constitution� abolished� all� titles�

except�for�military�and�academic�titles.� 1�

� Reason�(R)� :� Titles� violate� the� essence� of� Article� 14� of� the� Indian�

Constitution.�

� (A)� Both�(A)�and�(R)�are�true�and�(R)�is�the�correct�explanation�of�(A).�

� (B)� Both�(A)�and�(R)�are�true�and�(R)�is�not�the�correct�explanation�of�(A).�

� (C)� (A)�is�true,�but�(R)�is�false.�

� (D)� (A)�is�false,�but�(R)�is�true.�

�

15.� Which� of� the� following� conditions� needs� to� be� fulfilled� by� Sakshi’s�

invention�to�be�eligible�for�protection�under�intellectual�property�?�� 1�

� (A)� Invention�should�fall�within�the�category�of�‘work’.�

� (B)� Invention�has�a�special�scheme�of�shape,�colour,�line,�pattern�etc.�

� (C)� Invention�must�be�a�notable�change�in�the�field�and�has�commercial�

viability.�

� (D)� Invention�must�be�indicative�of�its�geographic�origin.�

�

16.� Jagdish� and� Susheela,� neighbours� in� the� same� residential� complex,� are�

experiencing�a�disagreement�regarding�the�boundary�wall� between�their�

houses.� They� would� like� to� resolve� this� dispute� through� a� method� that�

encourages� open� communication� and� mutual� agreement.� Which� of� the�

following�options�is�best�suited�to�their�situation�?�� 1�

� (A)� Litigation�� (B)� Negotiation�

� (C)� Lok�Adalat� (D)� Mediation������ �� �

�

17.� Assertion�(A)�:� Fundamental�duties�are�enforceable� in�the�court�of� law�

and�one�can�be�punished�for�its�violation.� 1�

� Reason�(R)� :� Fundamental�duties�contain�standards�to�be�followed�by�

the�citizens.�

� (A)� Both�(A)�and�(R)�are�true�and�(R)�is�the�correct�explanation�of�(A).�

� (B)� Both�(A)�and�(R)�are�true�and�(R)�is�not�the�correct�explanation�of�(A).�

� (C)� (A)�is�true,�but�(R)�is�false.�

� (D)� (A)�is�false,�but�(R)�is�true.�
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18.� �� � �� �� �� � ������ �

���������?� 1�

� (A)� �21�����

� (B)� ������/��...����

� (C)� ������

� (D)� ���������
�

19.� �����������,�����������

��������������������

�����������������?�� 1�

� (A)� �������������

� (B)� � � � � � � � � � � � � �

����

� (C)� � ()��� ��� ��� ���

��������

� (D)� ���������������
�

20.� �������������()������

� � � � � � � � � � � � � � � � � �

� � � � � � � � � � � � � � � �

�������?�� 1�

� (A)� ��� (B)� ��

� (C)� �()�� (D)� ���

�

�–� �

21.� ,� -� � � � � � � � ��� ��

�� � � � � � � � � ,� � � � ()�� �

�� � �� � � � � � � � � � (�

)����������������

��� � � � 2�
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18.� Which�among�the�given�requirement�is�not�essential� to�be� fulfilled�by�an�

Advocate�for�obtaining�licence�to�practise�law�in�India�?� 1�

� (A)� Minimum�21�years�of�age.�

� (B)� An� LLB� degree� from� a� college/university� recognised� by� the� Bar�

Council�of�India.�

� (C)� Enrolment�with�the�Bar�Council�of�India.�

� (D)� Must�clear�the�All�India�Bar�Examination.�

�

19.� Two�companies�ABC�and�XYZ,�have�a�contractual�dispute�regarding�non-

payment� of� services� rendered.� Instead� of� going� to� court,� they� decide� to�

pursue�ad�hoc�arbitration�to�resolve�their�dispute.�Which�of�the�following�

is�a�key�feature�of�ad�hoc�arbitration�?�� 1�

� (A)� The�process�is�conducted�by�an�arbitral�institution.�

� (B)� The� process� follows� a� pre-determined� set� of� rules� established� by� a�

recognized�arbitration�organization.�

� (C)� The� parties� have� the� flexibility� to� tailor� the� arbitration� process� to�

their�specific�needs�and�preferences.�

� (D)� The� process� is� conducted� by� a� sole� arbitrator� appointed� under� the�

statutory�provisions.�

�

20.� Jai� is�accused�of� stealing�a� valuable� item�from�a�store.�During� the�trial,�

the� prosecution� argues� that� he� acted� with� a� particular� mental� state�

regarding�the�alleged�theft.�Which�of� the�following�legal�concepts�relates�

to�the�mental�state�of�Jai�and�plays�a�role�in�determining�his�culpability�?�� 1�

� (A)� actus�reus� (B)� mens�rea�

� (C)� motive� � (D)� ignorance�of�law�

�

SECTION�–�B�

21.� Ananya� is� a� conflict-resolution� specialist,� who� is� called� into� facilitate� a�

workplace� dispute� between� two� long-standing� employees.� Both� are�

valuable� team�members,� but� their� conflict� is� affecting� their� productivity�

and� team� dynamics.� Examine� the� features� of� transformative� mediation�

that�Ananya�can�employ�in�this�situation.� 2�
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22.� ������()������������

� � ���� � � � � � ����

� � � � � � � � � � � � � � � � ,� � ������

������������?� 2�

�

23.� (a)� �������������

������?� 2�

� � � � � ��������� �

� (b)� ����-������� 2�

�

24.� �����������������

�������

� ���������,���������

����������������

� ��������������������

���,����������������

������������

� �������?����������

���� � � 2�

�

25.� �������,� ����`�1�������`�50�

�����������������()���

��� � � � 2�

� (a)� ����������(�)������

� (b)� ������������?�



�
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22.� Sally� is�a� lawyer�who�operates�in�a�highly�competitive�legal�market.�She�

has� recently� gained� a� reputation� for� aggressively� soliciting� clients� who�

have�been�involved�in�accidents�or�‘personal�injury’�incidents.�Identify�this�

category� of� lawyers� and� the� country�where� they� exist.�What�will� be� the�

status�of�this�category�of�lawyers�in�India�?� 2�

�

23.� (a)� How�are�judges�of� the�Supreme�Court�of� India�appointed�under�the�

collegium�model�for�judicial�appointments�?� 2�

� � � � � ���������������OR�

� (b)� Explain�the�role�of�High�Courts�in�the�Indian�Judicial�System.� 2�

�

24.� A�minority�Education�Society�owns�a��chain�of�schools.�These�schools�are�

recognised�by�the�State�and�wholly�funded�by�it.�

� To� promote� the� spirit� of� unity� and� oneness,� all� the� students� in� these�

schools� have� to� attend� a� special� religious� prayer� every� morning�

irrespective�of�their�religious�beliefs.�

� A� group� of� students� refused� to� participate� in� the� prayer.� The� school�

authorities,� after� giving� warning� for� being� indisciplined,� suspended� the�

students� for� a� week.� Parents� of� these� students� alleged� violation� of�

fundamental�rights�of�their�children.�

� Is� the� action� of� school� authorities� justified� ?� Stating� the� relevant�

Constitutional�provision,�give�reason�for�your�answer.� 2�

�

25.� Arjun�threatened�to�kill�Bhim�if�he�does�not�sell�his�house�worth�`�1�crore�

to�Arjun�for�`�50�lakhs.�Bhim,�out�of�fear,�signs�the�contract�for�selling�his�

house�to�Arjun.� � 2�

� (a)� Identify�the�essential�of�valid�contract�missing�in�the�above�situation.�

� (b)� What�remedy,�if�any,�is�available�to�Bhim�in�the�given�case�?�



�
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26.� � ,� � � -� � � � � � � � � � �
�������������������

� �� � � ��� (� )����� ����

(��)���������(�)����

(�� )�� � ��� �� � � �� � �

�� � � � 2�

�

27.� ���������������
�������������������

�����������������

-�� � � � � �� � ����� � �� � ��

���22��������������

��������22���������� 2�

�

28.� �,���,���������-������

���� �����()����������

����������������?�� 2�

�
–� �

29.� ���������������()��
����...���������������

��������()������������

�����()������������

� ��...������������?�����
������������ 3�

�

30.� (a)� ����������������
�������� 3�

� (b)� “�����������”�����

��������������� 3�



�

40/21����������������������� 17� � P.T.O.�

26.� A�successful�start-up,�Tech�Genius�has�developed�a�cutting-edge�software�

that� has� gained� immense� popularity� in� the� market.� To� protect� their�

unique� brand� identity� and� product,� they� are� considering� whether� to�

register� a� trademark� or� maintain� it� as� a� trade� secret.� Explain� the�

fundamental� difference� between� trademark� and� trade� secret� to� Tech�

Genius,�that�would�help�them�in�decision�making.� 2�

�

27.� During� a� nationwide� emergency,� the� government� implements� strict�

measures� to� maintain� law� and� order,� suspending� certain� constitutional�

rights.� As� part� of� these� measures,� a� particular� group� of� individuals� is�

detained�by�the�authorities�for�questioning,�due�to�suspected�involvement�

in�unlawful�activities.�The�group�refused�to�cooperate�on�the�grounds�that�

they� were� entitled� to� safeguards� under� Article� 22� of� the� Constitution�

which� the� authorities� denied.� In� this� context,� explain� why� Article� 22�

safeguards�may�not�apply.�� 2�

�

28.� Two�friends,�Neha�and�Nisha,�are�passionate�about�baking�and�dream�of�

starting� a� small�bakery� together.� They�have� limited� funds�but� plenty� of�

enthusiasm.�Considering�their�situation�why�might�they�find�partnership�

a�viable�option�to�start�a�bakery�?�� 2�

�

SECTION�–�C�

29.� Saurabh�took�a�comprehensive�fire�insurance�for�protecting�his�shop�and�

godown� against� fire.� AIG� Insurance� Company� insured� his� shop� and�

godown.� The� term� of� insurance� stated� that� the� claim� amount�will� paid�

only�when�the� insured�properties�are�destroyed�by� fire�within�the�period�

of�insurance�cover.�� 3�

� Identify�the�type�of�contract�entered�between�Saurabh�and�AIG�Insurance�

Company.�State�any�two�characteristics�of�this�type�of�contract.���

�

30.� (a)� State�the�circumstances�in�which�legal�aid�can�be�denied�or�withdrawn.� 3�

OR�

� (b)� “A� right� to� access� to� justice� is� sine-qua-non� for� social� justice.”�

Evaluate�the�statement�in�context�of�social�justice�and�human�rights�

in�present�legal�system.� 3�



�
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31.� “������ ��� �� ”����� ��

��������� 3�

�

32.� ���������������� �

����������?����� 3�

�

33.� ����������� 3�

�

34.� (a)� �� �(�)�����,�����

�()����������,����

������� ������ ����

��?�� � 3�

�

� (b)� ������������������

�������������������

��� � � 3�

�

35.� “����”������������� 3�

�

36.� ����()���������������

�������� 3�

�

–� �

37.� (a)� (i)� ��,�1986������� 5�

� � (ii)� � � � � � � � � � � �

�����������

�

� (b)� �����“”�����������

������?�� 5�



�
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31.� “International� law�is�a�weak�law�as�compared� to�municipal� law.”�Justify�

the�statement�giving�any�three�reasons�to�substantiate�the�answer.�� 3�

�

32.� State� the� recommendations� that� can� be� made� by� the� National� Human�

Rights�Commission,�when�a�public�servant�is�identified�as�the�perpetrator�

of�a�human�rights�violation.�� 3�

�

33.� Differentiate�between�senior�advocates�and�advocates-on-record.�� 3�

�

34.� (a)� In�a�criminal�trial,�the�judge�takes�an�active�role�in�investigating�the�

case,� gathering� evidence� and� questioning� witnesses,� while� the�

accused�has�a�limited�say�in�the�proceedings.�Identify�the�system�and�

state�the�main�advantages�of�this�system.�� 3�

OR�

� (b)� A� commercial� dispute� has� arisen� between� two� companies� over� a�

breach� of� contract.� They� have� to� pursue� arbitration� as� a� means� of�

resolving�the�conflict.�Outline�the�process�of�arbitration.� 3�

�

35.� Explain�the�role�of�Supreme�Court�of�India�as�a�‘sentinel�qui�vie’.�� 3�

�

36.� Jyoti� is� selling� her� residential� property� to� Jagat.� Describe� in� brief,� the�

process�of�how�the�ownership�of�the�property�will�be�transferred.�� 3�

�

SECTION�–�D�

37.� (a)� (i)� Analyse�the�purpose�of�the�Environment�Protection�Act,�1986.�� 5�

� � (ii)� State� three� provisions� of� the� Indian� Constitution� that�

demonstrates� a� commitment� to� sustainability� and�

environmental�stewardship.�

OR�

� (b)� In�the�context�of�criminal�law,�explain�the�term�‘preparation’.�Under�

what�circumstances�is�preparation�punishable�under�the�IPC�?�� 5�



�
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38.� (a)� �����������������

�()�������������,�..�10�

�������������� ��

� � � � � � � � � � � � � �

�� ��� �� ���� �� �� �

�����������������

���������������-�

� � � �� ����� � �� � � � � � � �

“”� � � � 10� � � � � � � � � � � �

��������� 5�

� � (i)� ..�10��������?�..�10����

������?�

� � (ii)� � � � � � � � � � � � � �

�����?�

�

� (b)� (i)� �� � � � ?���� ��� �� �

��

� � (ii)� ����������������

������������������

�����������������

�������������� 5�

� � � �����������������

����
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38.� (a)� Environment�degradation�is�a�global�concern.�Depleting�ozone�layer�

and� shrinking� water� bodies� raised� an� alarm.� Ten� developing�

countries� of� Asia� decided� to� come� together� as� EC10� and� lay� down�

mutually� agreeable�norms� and�practises� that� would� be� followed� by�

each� of� them� to� curb� this� degradation.� All� the� ten� delegates,�

representing� their� countries,� signed� the�document.�Narnia,� a� small�

island�country,�is�one�of�the�signatory.�Since�it�is�in�its�development�

phase,�a�lot�of�industrial�and�toxic�waste�is�generated�and�dumped�in�

the� water� bodies� surrounding� it.� Its� neighbouring� country� ‘Zout’�

raised� its� concern� in�EC10,� and� reprimanded�Narnia� for� its� action�

violative�of�the�norms�laid.�� 5�

� � (i)� What� is�the�document,�signed�by�EC10�called�?�When�will� this�

document�become�binding�on�the�signatories,�EC10�?�

� � (ii)� How� will� the� international� relations� of� Narnia� be� regulated�

since�it�is�one�of�the�signatories�?��

OR�

� (b)� (i)� What� is� International� Law� ?� Differentiate� between� the� two�

categories�of�International�Law.�

� � (ii)� Ferdinando,� a�Sri�Lankan� citizen�married�Sritama,�an�Indian.�

After� marriage,� Ferdinando� and� Sritama� went� to� Sri� Lanka.�

They� had� a� son� from� this� wedlock.� A� matrimonial� dispute�

ensued�between�the�two�and�Sritama�came�back�to�India.�They�

want�to�part�ways�and�Sritama�wants�custody�of�her�son.� 5� �

� � � Identify�the�category�of�International�law�that�would�be�applied�

to�the�given�situation.�Give�reason�for�your�answer.� � �
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39.� ����.....�(NALSA)�,�2010����

��,�1987����� ��� ���

���� � � � 5�

� (a)� �����������12�����

�����

� (b)� ����,�2010���������

�

40.� (a)� ��(�)���������������

������������������

������������������

��������������������

����������,�������

�������������� 5�

� � � ��� ���� ���� ����

���������?�������

�����������������

�

� (b)� ����,���������,�� ��

��������������������

������ ��������������

����������������������

��������

� � �����������������

������� � ������ ����

������

� � ����������������

� � � ,� � � ,� � � � � � � � � � �

��������������

���� 5�

_____________�
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39.� NALSA� Regulations,� 2010� aim� to� provide� free� and� competent� legal�

services�under�the�provisions�of�Legal�Services�Authorities�Act,�1987.� 5�

� (a)� Enumerate�any� four� categories� of� person�who�are� entitled� for� legal�

aid�under�Section�12�of�the�Act.�

� (b)� Explain�the�three�broad�features�of�NALSA�Regulations�2010.�

�

40.� (a)� Heena,�a�hair�dresser�treated�Selena’s�hair�with�hair�colour�and�as�a�

result� Selena� contracted�dermatitis.�The�manufacturers� of� the�hair�

colour�Beauty�Blossom�Company�had�delivered�the�product�to�Heena�

in� properly� labelled� bottles� together� with� a� small� brochure� of�

instructions.� Both� the� label� and� the�brochure� contained� a�warning�

that� the� hair� colour�might� be� reactive� on� certain� skin� types� and� a�

patch�test�on�skin�was�recommended�before�it�was�used.�� 5�

� � Selena� sues� the� manufacturer� Beauty� Blossom� Company� for�

negligence.�Would�the�manufacturers�of�the�hair�colour�be�held�liable�

to�Selena� ?�Discuss�with� the�help� of�decided� case.�Also� discuss� the�

liability�of�Heena�towards�Selena.�

OR�

� (b)� Sindhal� Iron� and� Steel� Company,� an� iron� foundry� unit,� imported�

metal� scrap� from� certain� war� ravaged� country.� One� day� while� the�

scrap� was� being� unloaded� from� the� trucks� in� the� premises� of� the�

unit,�an�explosion�occurred�resulting�in�the�death�of�an�employee�and�

two�children�living�in�the�adjoining�house.�Later�on�it�was�found�that�

the� scrap� consisted� of� some� bomb� shell� scraps� which� were� not�

completely�defused.�

� � On� an� action� filed� against� Sindhal� Iron� and� Steel� Company,� it�

pleaded� that� all� safety� measures� were� taken� care� of� by� them� and�

there�was�no�negligence�on�their�part.�

� � Discuss� the� liability,� if� any,�of�Sindhal� Iron�and�Steel�Company� for�

the�damages�towards�employee�and�children�with�the�help�of�decided�

case.� Also� mention� the� basic� principles� that� would� have� to� be�

established�to�hold�Sindhal�Iron�and�Steel�Company�liable.� 5�

_____________�
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